KFERFZBHIC BT 2 BRI BROE
ARFEANFRIFEHDOEE

10 5

R
"B ¥

1. &

IT. HEDFEHEEDIEREH
. SEREE L SRFIE

IV. ER#HEEUSsH

V. &3

1. &

WM E 2B\ T, Listening, Speaking, Reading, Writing du:3
W Z 4 HHED S b T, Listening OEREAHIO 3 Fitickks ~TH £ D
RO SRT, L { BRI TWE I L RAAOHEREHRETEME
WL TIHEFEasNTWwR A5 THD, 72k AW, Paulston & Bruder

(1976 . p. 127) it “Comprehending the spoken form of the target
language is one of the most difficult tasks for the language learner,
yet it is probably the most neglected skill in second language teach-
ing.” & i, Listening O £ XD iC 3470 5 O/3EEHR (listening
comprehension) @ 7o £ AOWE I DWW TR BEBETHL O TH S
&L, Listening S8 OEEM ZEHEL T\nb, 72775 (1984 1 pp. 5
—12) & Pimsleur (1977), Rivers (1978), T OMENOEEL2 &7 —F
— &L Ads, AROERTBHF ISV T L listening DEREAE L <
UHEBNTWA D EFERL, 7))y FEEEEAOBE—E T >~
T OTHETEOR FEIREL T 5,

19404EfE A S 1960 RATHE TT AV A TELLREL RS HOEE
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it B @ %00 BBS

ESEYOREBIIL AL -T 4 4 ) A VT P —F T & { Production
DFNEEx Recognition DEIEE % FH1a s 56, HE - RENHEL I3 1
i B2 Recognition MEEHBEDLN L EITATRER T L, LHL T
O ELfRiE Belasco (1965 © p. 486) 3R & 2 i T, #kvTE
RSN TE TV 3,

“Unfortunately, the audio-lingually trained student, as he goes on
to higher levels of foreign language learning, is not always
equipped with a solid structural stockpile ... Now if conver-
sation is the aim of the audio-lingual approach, it will have to
devote much more attention to listening comprehention than it
has up to the present time. ... And just because a student can
utter a lot of sentences in a foreign language is no guarantee that
he will understand them in the mouth of a native speaker.”
Postovsky (1975 . p.21) % recognition O~ ), 2% 0 listening @
A MOERICEAL TITHY JEMNHMBMNTHE LERL TS,
“The integrated linguistic system is first internalized on the
recognition level ; when this is achieved, the complexity of the
learning task for production is correspondingly reduced, the need
for automaticity of response more pressing and utility of pattern
drills indisputable.”
Asher {(1974) I Total Physical Response $§i# i X - T A2 4 EB
% 1 AR (458FR) @ 5 B70% % listening, 209 % speaking, 109%%
reading & writing = #i < BRIE S O <, 1 SAM200M AT 0I5 4
L EWOFHETLEL D L listening OFEH TERBEEAH B S
LT A, 2O k& Production @l L b & Recognition & 3I|E1:,
L0 OB ELT LRIV EAGELEBEHGT THL I LEY
BoTwnd, HEROEFEHF T, & ¥R Tl 3 st o #
BT, listening DINFEO - ICHH 2 FI < KA LWL, FLRRTH
HEAEDKRET, e7 VT 7TAFEARIKED ART LB,
HE O listening OIFicHEAN T WOBERTHL BEOEKD
WEHRERE D R D ooty - B OBRRE T Language Lab E O #IE
L7ciER & L T listening FIBOIEEL A SN DIRETH B T DD
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REREHE B 2RI ERORE

I3RS UL T listening EIRO T EBHE AR & 4, BAST KRS
ZRLOHL - EE OB RFETHFHBHCAR LTV I T A+ %
HBA (F2E205EEEE-TETIEVEN) SR EamcUER
%,

FEBRLFHTE T TRBEI»SARICE T ) /7 A P RREL,
AFEHESERD 7 7 ARSI B> T v 5,

FIRETEEAA T 4 7« AC—H—OHEHBEEC L 2 HERT
ERUVESE BEHETO) OFEDIE M, 19684 Sony CIM—4A
AR E - Sony ER—TDA®MOTF—7Fra—F— %Wt 7—2
155 (2 #H%14E\ L2295 L% 5) O/PRAMEYL Language Lab 8 E 1T
& O SR A O BETERR I B A A o T8, 1078EE 8 Btk
HTHARS L IR L -8 Ly Language Lab » X 7 A0 L -
T, &S EEEORBHEBHEROFHOTEEH 72,

AT BES AEFEFEL T 24 JACET HERMIEET X | R
RO EFLIC LT, ENFR¥FEOREEROMEE #BEEL,
SR NHEHMRBEAAASAICT L I ki kD, EEREOERAGY
EOHEEFED v, Fhe, ZOBESCEFTERLTWALIARETY
YT A OFEER (19834 L 198440 2 ##4) & JACET zaEafg S
BT 2 b ORBBR OB EsTFL~, ARKCETY X F 2 2B T2
CEDHELUMLEDLYTEEL AL I EWLT S,

It . IBAEOREEBEREDISEKS]

A EFCHE SN TwA Language Lab (SONY LL o 2 7 288531
£ %) DML

[L L#E]
7—Ava—5— (ERS88) 64
THIA4F—k L7 — (RN—830) 64
T —FLE 6
% %]
Jxboa—taswy—n (LLC—8) 1
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I B & HCD HBE

B —HFMETRE « A7 4 P4 (VID—2010A) 1
7+ 74 ¥ — (RN—850) I}
A—=Fr7FyF (TC—707) 4
Ay b Fv¥ (ER—7CM) 4
Fay s AL 45— (PME—IL00) 1
Fa 7L EFr— (PMM—100) 1
CF A aEE  U-matic (Y9200 2

~—F w7 A4 {SL—-F11) 1

VHS (iR i) 1
FEHEEESICLIDFEELTROL S RREREERV 0 7 4
T35 2 EHTED,

g

(LLHELR)
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KETEHECB Y 2BENRROET

. ATEEOBERMHORER O H L

| HOMmGFEAHFORVHEL
CRBRT—AOEZY ) 7B X UHEEEE

TH 74— L HEE HE, 74— Fniw7

LAy PN - ASETY v b
CBBEVTREOHES Y » 7 (~—F 7w A—VHS—U-matic)
.BEVTROY A vk 2 ¥~rEkE

L VE2VLESBERED S DT

GO =3 O o oA Lo DN e

B. #0%a234
REPHSCERNE 1 R UNE 2 R0 A O EEENERE D B HIE R D
LIRERIH EFOBEEIZROBYTHS,
(B 1 4R

Hi—905 (Sh+LE) X30@8=2,7005r

45
LS
IR

SR X308 =6, 7505
HEE [ ——904r X 3008 =2, 70057
(8 2 &)
maE—2205 (o) X30E=6,7504
HEEIT—904 X 308 =2,70053
. CR=Classroom GREEHE) TAA 7 « 7AL—h - S HES
B A 20T 4 .
I. L =Language Lab T 2 SR,
H R*Hearing Room 7837 — 7 #EEH T 2850,
rE ] = AFEEIC L AEEE R L T o Reading D,
%%Hﬁ%mz47471t H ik ZHFEEFEAL TO Read-

ing DFFE,
II. EFREHRE ZFHFIE
SEOFBIC Y > TIRROZEBEOL 7 ) » 77 A MDERE2EO %
j Z &k?”%o

OABETF UL ZF A+ (19834 L 198440 2 4 HE4)
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it B @ EOO ERS

o JACET ZHZEIEM AT A 1+ (19814 ~19855E 0 5 4 E5})

1. ARE7 Y
AEBVEBAEEZEDS b, #HEBERUHESAAFZOELEXEL£TO
FENIDT AL EREBL T,
HEGEERSORRE 2D, WEIXI0RE, MECEEEEECT A
U ABLCLVBEEINbDTHS, PART T o 5 i, 20~65:8
PERARVTEME, AR " HT2005BRT5L0THS,PART
[Tz 100~150585 5 B A XEESCR Wb L B R E h, BTG T
250% 4 o0%hhs 1 DBRT 2, BEE~—7y— P ARICE D,
WEE20ETH B, ((THER)

SEHREL HZFREBIROEED TH B,

19834 704
1984 89
B 155

i, SRl k9, AFEOHICRIOF A EZITLVELND
BHEE, RETICY-T, 07 A FDO#E»EFHIETHT, B5HFS
#3503, JACET SR EHET A+ E OMHEO EASER T A L %4
HATasbord s,

2. JACET HEBEHRET R

JACET (AZFHMEHEFS) KLo TIIBERHEILTLE, &
(Form A), # (Form B) OF 2 EEMETEMEINTHEHD7
A MCEETIHINIERL Y, 1 2ERELEFEEEENRELS
ML Tw 3, 198145 5 19844E % Tk Form B, 19848 A %4 X H Form
AZRIT L7, Form A, Form B4 < R ClEwwHRIEOEL
vy, Y

FAME IO PART L DEED, (FIRHICD T IiE pp.168—9E M)
AR TREOMY Th 5, _

PART 1, PART 2 &20f8: (R—W)x 2
PART 3 10Rf: (2R—W)x2 (R:EH%, W:HEZE)
I20EWETREEE L 2 TWBEDOTPAFRELHNEBL,
BEODFEZ1IEREL2FERICIDTAMEZF LI LD, 15
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REEBRE LB D SHENIER D&

HOEEDMEE s —2oNEHEET 5,
FREONRE L IREBERRIRDEBITH S,

1981 1 #£H (Form B) 984
2B (0 » ) 95
1982 1 5 ( i ) 105
2gEB8 (v ) 91
19835 1 565 { n ) 87
2E8 0 r ) 106
19845 1 4EH (Form A) 107
2#H (Form B) 76

19855 1 4£H (Form  A) 113
288 (7 ) 105
= 983
FENRERRDEBY TH S,
(DBEE, ZFEAFHE/SE, SD, 7> 74544,
(2)& PART ¥ 591§ &5, #EE 5.
Q)] k25 2 ERAD LR (TR OB A B E&EBARUSE PART
DB L 5, ‘
JARET7Y o F R bk JACET REBBEAAZET 2 20480
(MARE 7Y /o 1 ER JACET Py »
QAR 7Y /2 ERJACET e 7Y > 7

V. BRERRU SN

1. ABeF7N T}

B—HRD7 X P Tid®d - T HEHSMIE1983F 08, 19844F L HhEE L
TRONEHEEREL T, FHEAIE O AFACSMRERLTw 3,
C(F&L, ")

2. JACET g7y »2

(I1984FE~1985FED EFRBER VT Z v/ AHREF2WWRTEEBD T

Hab,
5E® JACET 7V > 7 @R, Form BZEFE T AFENEFR
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e

R % R00 BRE

i THANK|IR & S8 B &[T 08
o p 2 4 13.1
1984 8 @ : =

=1
%
50
40
e 19838
30 19844
20
10
5 I 11 18
- N
oo 15 20

U144k, Form ARBEICIAZENI A RRULIEL» ABOE
BRI AT A b LI LB, T A b RO B L A1
I FEOFIPR R & D LA S, 2REATRTAREOREYE
<, L5 Form AL & 2 ZBERMP Form Bz L s 002 LEST
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RFEIHE -5 D EEHRE O

VWABELSH L, XJACET £ 7 ) > FOh TLERAEXHKFED
ER S EELTH, FE2EHORARGZDE L2 T3 I LE
LA THEZLE LAY TOMERE, 220 1F8: 2 #B0 JACET &
7O EREOMC, HYOERNEBBL TS I EEEES ALY,
MEEOFMEEAT it 3,

A~DDF > 73 ME 37 TEbTEE 2D L3I0k 5,

#2 JACETETYU7HIA

Bl BB | P S vy 09
0 il T I R PN S I I
# s £ £

LEH|B 6| 15| 28| 484 2a6] ™Y (29'23) (48;2) “7'1?
81 )2 1| B 65| 15| 15| 53.2{ 2.5 “‘:) (43;1;’ (‘“'3;) “”'1:)
PO 153 50.7| 2.2 (3. é) (36.73) (44.82) (1&3{)
1% H| 8 5| 10| —12| 30.0| ] & gj (21-22) (53.52) (22;2?
w2 |2 % B B m| us| of eo|ms| 7 (‘”'42) Ho.n (3‘?
P 196 so.1| 292 (5.13) (336;) (47.9;) (13.23)
1508 7| 12| —20| 19| 281 (4'i’ (2522) (5452) (lﬁii)
1983 |2 # H | B 06| 108 —z| 49.6| 26.7 (2-2’ ‘37;15) (42:12) (17.12)
[ 193 47.5| 27.4 (3'2] (326:;) mgg) (15'32)
1 H|a w7| 1] 2| 37| 20.9 “? m£J“%?(”g
-
1984 | 2 % Z B 7| 12| —6| s0.2| 2.9 (5'2) (50'32) (34‘2? (1-3.;)
PO . R I u? mg)uh?fmﬁ
16 H| A m! o -4 7| mwe| g) “9-2523) (oéétln (26_33)
1985 |2 # B | A 05| 2| —18| 52| 205 (7';) (39;:]’) (39;1(1’) “4'12)
s g 1l s (3.;) (2862) (4?62) (zoag)
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it 2 @ B0 WS

B2 HEFEFSI79%

% %

50

40

30

20

10

1EHE 2FEBOFETH, TOFFRERBHSPICE STV, 1
FHICH*ES:TAHWIUAEEL Twah, 2HERKLLEBY >~
TDERAMNELL, CTr e tEZMIFREEE - T b, 19834
D&, BZw2E0C7rom%<, ZOTBEEE, | FRHTOEY
Bk A L TR < (19816, 19834), - TOFEIEEDBF -
rHEMER e hrot, LEALERIERIBI -7 ECT7 70D/
TRERBEBNE - I Edbhb, BnHEEZLAL6E, 2FHD
HEBICIE, CIvI/h6BIr 7 ~OBMOEEGHKEL YA M %
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REEREBCH 0 L ERARRO R

B THEEHNTFRENS, C7rh6B7 2 ~0O LR ERBC
DZo2hsCr7r s~ ERVERWTE(HONSE, AZ¥ 7200
T, BFLL 1ERLY 2EAODAEMSE LWL ATWERELT,
AZ 7 DIRAY & ERPREL 2 L, HE LR 008
DEDBERES LI, LTI1EFEETAT 7 BT 5340k
G T ENBTFe NS,

(2¥& PART Mo {8 & R U S
PART 5|5 HidF 3 icidahTwa,

#3 PART3HIFRSEA B &

=
2| PARTI1 PART2 PARTS3 TOTAL

m
1 £ H|B 14.6 14.3 19.5 48.4
19812 £ H | B 17.1 14.6 21.5 53.2
¥ B 15.8 14.4 20.5 50.7
1 #8|B 11.1 10. 4 17.5 39.0
0821 2 £ HIR 18.1 19.1 25.8 63.0
T B 14,3 4.4 21. 4 50. 1
1 £ H|B 13.0 13.3 18.6 44.9
1983| 2 &£ H | B 14.3 14.4 20.9 49.6
¥ o 13.7 13.9 19.9 47.5
1 £ H|A 8.2 13.0 16.5 37.7
1984 | 2 £ H|B 16. 4 18.¢ 24,8 59,2
rooof 1.6 15.1 20.0 46.7
1 £ H|A 7.6 10,9 17.2 35.7
195 2 FHIA 12.6 18, 9 23.7 55.2
L # 10.0 14.8 20.3 45.1

FoRTEETAEEBEMEsNn3E, Foom B 14887k PART 1
s PART 2 0 dinE L, PART I 2 h L Ew ,Form B 2
FETHIZIZEHO Z v 25, L L Form A 743 PART 1, PART
2, PART3DIETEARE{ > Tnad, Z4#ik FORM 0&EW\ic & %
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i B R £C0 BBWE

B WS L ELbEZONDEY, T A POTMERPE bHETEL S &,
AFETIEI PART | BREERE L EATWI LDRFLTELTH
AH, EHIIOWFMA R SE, AERSSOEFEIEMERlsHZ L
LT, COEOME~OREE*EE T I bMETHI VWAL D,
RIZERD OE GBI 2L T O 217 9. MO ki, JACET 8
FEAIERE T A FERBOETC L DARTELZ VY, PART HEOoREX%E
RIFIIRD EBEDTH S,

Part 112 i REH20H D T, TOZLOAEVERTEALTIELY
BEi, Part ) OEEHO TE, OXFEECEY DRL TS,
FELL uli: 8, OXFERBIOHLTLI LSV, &2 OME
i 1IELSEGEYA, FOLHETHEER-XHDET1SEO/
CEBEEHELTR v, THHEEP > TAEL 3,

Listen to the following examples. _
Example 1 The moon moves around the earth. And the earth
moves around the sun.

HidthEk£2ED, HEREABEZEZ L E->TnEd,s, ELWwIE
T s, TTH6, BERMKD TIE,; OXFER{EYDHL
=9,

Part 22220600 X435 0 £ 1. £ OEX Offlidk), DZO20XTT
ETVET, QOUDTF>TVANFEGDIDOE - T dNENIE
FAUMEIEELTTES 0, bLHEHPRULEE-7s, Part2 o
BEERO TR, OXFEFBR{BOORELTLEEn, EosTwi s
-5, TR OUELSELE)S>RLTLES 0, E20XR1IELEE
BEBA, FOHETHRER-—ZANBHDETHS, ZTORICEELT
LB,

TIRFEE PS> TAHEL L Do

Listen to the following examples.
Example 1 (a) Betty plays the piano better than any other
student in her class.
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AEEFHG OB ERTHROSEY

{(b) Betty is the best pianist in her class.

@O TRT 4 W7 FADERID S EFRET /EM O, Lo
TEY, OV TR 4B 7 AT—BLFCCT /28I AN, LE
2 TLET, ZRTOOXDE->THLENEHFEELCTE, T+H»s
"F; HXFEE B >HLET,

Part 3 iEfEE10H Y 27, B4 OREOEREROL I T
WET, ITERBEIATCEET, ok 2,

Where did Dr. Smith meet his wife for the first time?
COEMICELDOROXEEFHHL T EE 0,

Dr. Smith is a well-known scientist. He met his wife in Boston
for the first time when they were in college, Two years later they
got married in New York. They've been married for twenty
years.

ZITRYVIOEME S D —EENERLE T,

Where did Dr. Smith meet his wife for the first time?

COBEMINTAEZEROA, B, COZ2OHMAEATINR
Lag

A . In New York.

B . In Boston.

C . In Chicago.

BEHEDA I ALEEERFUIEA N THO TEI ATHE T L
BoTwELL, TI»SELWERBTYT, BEMOBEEHED D
KT koD Ed,

PART 1 (20f), PART 2 (2084), PART 3 (10f) @5 &, FE
EHEHSORUTOMBERFZOIEERIIFEL, HSCRTANTH S,

PART 1 & PART 2 #8514, Form B i k& 2 SEERE T AZ 13 4
WBiIZ bbb o, EEFORGEES PART | TEREOHEE I B
FIER LTW2a 0o~ PART 2 iz L TWaD Mg,

W IEERESER L TEr - R >\, FOEEFEL L XE
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— 0Ll —

R4 EEROXLUTORE(1FH)

R N (%)

an

oM | 1|23l s |ls|eir|alo|w|ulelalulsls|r|sles]ln
- ® ¥ n| 7] @ % | @
(35.7) (37.8) (39.8) | (45.9) 2.6) | (49.8) (36.70 | 42,9
- m &7 B 51 7] 18
(38.1) (44.8) (46.7) | (48.6) (44.8)1(45.7)
3 2 AR | 3
PARTI | 1383 (1.4) (48.3) .7 |39, ) 42.5) | (44.8)
198t | %] m m a 29
(38.3) 4L D (31.8)[{30.8) {43.0) (38.3) {45.8)
g 5% 2| @ 3] 2 Im 3 5
(49.6) (37,21 (416} (32.7|(31.2) (40.7 {30.0) {49.5)
En g B
1981 %) {48.0) (49,0}
1 1 50 07
1982 (44.8) 457 (47.9) (44.8)
3 T 3
PARTZ | 1583 (44.8) 48.3) (42.5)
7 a
1584 (43.9) | (43.9)
1955 8] % 52 51| 5 5 56
(42.5 (23,0} (46.0) (5.9 |49 (48.7) (49.6)
I 7 '
1381 (42.9) 42.9)
7 5
1382 (5.7 7.5
PARTS | 1983 (34?2)
0| 8% 3
98§97 0 s (34.5)
% 3% 52
1985 |29 B) (31,9, {46,0)
19811 98% 1982: 105% 1983: 874 1984: 1074 1985 : 113%

: 7

e

(X%

ST



— TLT —

F5 IEEROWLTORE(2E8)

WAL A - (%)
g o® i lelalals{slslelolwlulelelulslselo!lelolas
I % 0| »
1381 (47.9) (37.9) (@2 n|uLn
) M| 43
1382 (48.4 37.9|4r.3)
37 i &
PARTL | 1983 (34,9 (38,7 | (39.6)
51 a1 3 % | % ®| 3
{40, 8) (50, 0) {38.2)1(39.5) (50.0) | {48.7)
- 2| 4 50 2 51
(30.5) | (43.8) 47.6) (30.5) (45.6)
- 5 IR 17 s
(47.4) (45.3) (44.5) (47.4)
37
1982 46.7)
u 51 )
PARTZ | 1981 (4L g (48,1} (19,1
36 3 %
1984 47.4) (50.0) (46.1)
10
1% (38.1)
A
1381 (25 3)
1
1582 (418)
- %
PART3 | 1983 e
%
1984 46.1)
9
198 6.7
19811 95% 1982:01% 1983: 106% 1984 76% 1985 105%
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I B & #£00 BBF

%6 REZOEH

Auditery Discrimination Lexicon Structure
PART | @ No | Someal |Sresse. iy idioms | TorPee | amactial] "
(B)
1|0 2 v L
5 1% [ L
O 12 L L
©13- L L
16 L L
17 L %
2 (@ 5 L v
12 % L L
20 L | L
3 o2 L L
5 v L
(A)
1 4 1% L
5 1% L
3 L L
9 L L
13 L
17 L %
2 2 L L L
3 | 1%
3 1 L
4 g L
©1 - 28E

PIRRE6DLIIHEINS,

N ABBRICRES S 7 — 7 TH 5720, Auditory Discrimination
WERTEETE A BRI LORBEDHE 3Ly, — &S
WEA Y LTEZ SIS0 Lexicon, T4 Vocabulary OB EE
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AERBNE 50 SERTERORMS

LTWarBbhd400HL, INOOEBEEDE HEKREREVD
=TI A2 TwA bbb P EERNBEVORPEIFELT
HESAZKLWEVRSZENE—CELON, S6KENTELREYR
BERTHD S, AeOFENE-E2DEZ2, »pOBEEEORWELEH
LTV WHBEOSEEERL LIS 2 Context #HETERWD O L,
IITRHEES D,

(31 HER?S 2 ERADLERF
IhETEHSEChISTD L, 2EEOHEN*2ZBETNRE
LCEELTENLY, JOBETRE—REOHRELVIRA»S 1F
Ee2PEHOESRNTS, o TG L¥EER, KOZBENS,
1EEHA2WI2EF0AERLIEFBALCEKOANETHS,

1981 —19824 Form B 904

1982 — 19834 Form B 99

1983 —1984% Form B 73

19844F 19854 Form A 9§
COEBAEORBEITOROLITE S,

%7 PARTIEADHEEMNE ML

PART1 PART2 PART3 TOTAL

1981 1.2 14.3 19, 4 47.9
1982 18.0 19.1 26.2 63.3
A e (26)7) 126. 8 133.6 135. 1 132.2
1982 10. 9 9.9 17.5 38.3
1983 14.2 4.4 21.3 49.9

xb i R (%) 130. 3 145.5 1217 130.3
19483 12. 4 12.4 18.1 42.9
1984 16. 4 18.3 25.0 59,7

& B R (%) 132.3 147.6 138. 1 139.2
1984 8.1 13.5 16.7 38.3
1985 12.4 18. 9 23.2 54.5
B IE (%) 153.1 140, 0 138.9 142.3
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1982 £~ 19834

=3 1984 4~ 19854
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AT B SRR O &E

RTET7I 7L 0HITHSZ, Wb THIEH, L2
FHOBETH S,

HIEREBEEI00: L BEH30~42% DB URIGFH T NERET
H5. PART QI TR UERDE D 131984~85ED PART 1 ¢H 2,
AFEEO 1 EETREVEATHS 1, 1AETORREOFIC
BECRILONHY, KWICFHETE & 5.

Wieo 7B s A D &, 4 TH MR LI, ATV 21
HE»ERSOMM, BT r7REFELVEMERY, RWTCr7r e
Doyl T2E0nI Y —2ilh-»TED, KEHrXR2ERD
HEEE, B rOLREECT 7, DI 70BPIcHEEnE D,

M4 S78EBEA
A
5.5% NE
1981 | B 28.9% C 47.8% D 17.8%
!
1982 é‘g B A7.8 ¢ 0.0 D
: 23
—az0 9%
T
1982 B 212 C 525 D 243
! A30
i
1983 B 38,4 C 4L4 D112
AL 738
]
1983 B 23.3 C 534 D 19.2
}
1984 | B 50.7 ¢ 329 1&39
A
55
955
Al R4 C 480 D 8.5
1984 }5-1 i i :
|
1985 f?l B 40.8 C 37.8 D 15.3
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b B & $£00 ®3%

RS 2HEEDT v/ #EE, MEELSOBEAlCHobLION
H5THd,
IB3FEAFEBTRBT » 7N C T2 % LAY, 19BMETLRBZ 27
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Hearing Test Part |
Ex. Tom is five feet three inches tall. Bill is five feet five inches tall.

I

. Mr. Leonard was twenty-three years old and not very rich. He was

not married and he lived in two rooms in a small house in a big city.

. It was Jimmy’s birthday, and he was five years old. He got quite a

lot of nice birthday presents from his family. One of them was a
beautiful big drum.

. Mr, Yates was nearly ninety, so it was often difficult for him to

remember things, but he still liked traveling very much, so he and his
wife went to Spain every year.

. When Tom Howard was seventeen years old he was as tall as his

father, so he began to borrow Mr, Howard’s clothes when he wanted
to go out with his friends in the evening.

. Conrad Hilton, a young American whose grandparents came from

Norway, had been fighting in France in the First World War, Early
in 1819, he joyfully returned home to New Mexico.

Hearing Test Part I[

Sally : Bill, can you help me carry this box ? It is toe heavy for
me.

Bill : Sure, Sally. T'll be glad to. Where would vou like me to
take it?

Sally @ I want to put it in my car. | need to take it to the post
office this afternoon.

Bill : Oh, it’s terribly heavy. What do you have in the box ?

Sally : Well, the bookstore sent this box of books to me by
mistake. So. I'll have to send them back.

Bill : Really? That seems like a big mistake.

Sally : I think so, too. But I have a letter here that explains

everything. [t seems that the computer printed the wrong
address and I got the books.

— 183 —



Bill

Sally

Questions
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So now you have to return them. How much will you
have to pay?
Nothing. [t wasn’'t my mistake. The bookstore will pay
for everything. And they have promised that it won't
happen again.

. What does Sally want Bill to.do?

. How will Sally take the box to the post office?

. Why did Sally receive the books?

_ How much will Sally have to pay to send the hooks back ?

10. How did Sally find out about the mistake ?

Part 1

HEMEx X N FR b (198355)
(ERIHE)

chmoRET IR ABE 0, 2OREC—HT 5 L0E@,

B, ©, @odhhrs—2F2ETFL S0,

(f7IRE)

PeOeOROeR OBERE®

Tom is talier than Bill.

Tom is as tall as Bill.

Bill is not so tall as Tom.

Bill is tatler than Tom,

Mr. Leonard was a single man who lived in a small house.
Mr. Lenoard was married and lived with his wife in two
TOOMmS.

Mr. Leonard was twenty-three years old and very rich.

Mr. Leonard was living in a big house in a big city.

Jimmy received many nice presents for his sixth birthday.
Jimmy received many nice birthday presents from his friends.
Jimmy got a beautiful big drum as a Christmas present.
Jimmy got a beautiful big drum as his fifth birthday present.
Mr. Yates was too old to travel.

Mr. Yates lived alone and liked traveling very much.

Mr. Yates was so old that he could not remember things very
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well.

Mr. Yates was young enough to remember the things in Spain.
Tom Howard was able to use his father's car when he was
seventeen.

Tom Howard was able to use his father’s clothes when he was
fifteen years old.

Tom Howard could wear his father's clothes when he was
seventeen years old.

Tom Haward wanted to go out with his friends every evening.
Conrad Hilton came to New Mexico from Norway.

"The parents of Conrad Hilton came to New Mexico from
Norway.

Conrad’s parents fought in France in the First World War.
Conrad Hilton fought in France in the First World War.
WA T 5 Sally ¥ Bill o £ 29555 & D, Eo0EM (

~ JHLTERFAELLEE®, B © @ o
o —2F DEU L Sy,

To help her with her homework.
To explain the mistake. )
To drive her car to the post office.
To carry some hooks.

By taxi.

In her car.

On her bicycle.

In Bill’s car.

She ordered them.

The address was wrong.

Bill made a mistake.

She paid for them.

She won't have to pay anything.
She will pay for the stamps.

She will pay for mistake.

She will pay whatever it costs.
The computer informed her.

By telephone.
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© Bill told her.
@ She received a letter.

1984 (HEA159) FEAZRE HNE ﬂ FEIEERE 7R M BERER
Hearing Test Part I
Ex. Tom is five feet three inches tall. Bill is five feet five inches tall.

1. Dick was seven years old, and his sister, Catherine, was five. One
day their mother took them to their aunt’s house to play while she
went to the big city to buy some new clothes.

2 . Rose left high school when she was eighteen years old and went to a
typing school for a year. She passed her examinations quite well
and then went to look for work. She was still living with her
parents.

3 . Bob Johhson has a day off from work today so he has decided to go
for a drive with his wife. Bob’s car is a small, Corﬁpact model, He
used to have a bigger car but he got rid of it because it consumed too
much gas. His new car is much more economical.

4 , Ralph McDonald was looking for his wallet. He wanted to buy a can
of cola at the station kiosk. Unfortunately, however, he was not
going to be able to find his wallet because it had been stolen by a
pickpocket on the subway a few minutes before.

5. Mrs. Park owns three gift shops. Two are in the capital city of her
country. The other is in another large city. Every vear, for the last
six years, she has made a trip overseas to buy merchandise for her
stores.

Hearmg Test Part [I

Jim : Where can I get a ticket for Hakodate, Yumikao ?

Yumiko @ Try the third window to the right, Jim. It’s for long distance
trains.

Jim : I can't explain what [ want; will you help me?

Yumiko : Sure. When do you want to leave?

Jim 1 As soon as possible. I only have the weekend free.

Yumiko : There’s an express at 12:50. How's that?

Jim : OK. Is there a dining car on it? 1 haven’t had lunch vet.
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Yumiko : I'll ask when you get your ticket. If not, you can buy a lunch
on the platform before you get on.

Jim : What time does it get in?

Yumiko : - Let’s see ...5:37.

Jim : Great! My friends are expecting me for dinner.
Questions :

6 . What is Jim asking Yumiko?

7 . What does Jim ask Yumiko to help him with ?
8 . How long is Jim free for this trip?

9 . Which meal hasn’t Jim eaten vet ?

10. Where does this conversation take place?

WEMEENTF I (1984FE)
(I REHD

Part 1 ZHh»ofR7sEXEMEED, ZORB—HTILD%],
y 3, A0 s—DFTOETF LA 1,

Tom is taller than Bill.

Tom is as tall as Bill.

Bill is not so tall as Tom.

Bill is taller than Tom.

(1)

2

1

2

3

4

1 Dick’s elder sister was seven years old.

2 Dick’s younger sister was five years old.

3 They went to the big city with their mother.

4 They went to their aunt's house alone.

1 Rose was trying to find a job.

2 Rose was working as a typist.

3 Rose was living alone.

4 Rose was still learning to type.

1 Bob is using a big car, though it consumes too much gasoline.

2 Bob bought a new big car which was much more economical.

3 Bob was using a big car once, but he has exchanged it for a
smaller one.

4 Bob has a big car and his wife a small one.

1 Kalph wanted to buy a can of cola at the grocery.
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Ralph wanted to buy a can of beer at the grocery near the
station.

Ralph wanted to buy a can of cola, but he gave up because
he remembered it was not good for his health.

Ralph wanted to buy a can of cola, but he could not buy it
because his money had been stolen.

Mrs. Park is an active business woman.

Mrs. Park is a clever school teacher,

Mrs. Park has gone to foreign countries to study about
computers.

Mrs. Park has been running three gift shops in the capital
city of her country.

WITHEET 2 Jim & Yumiko 2 £ 5085 %2ME L 0, OO EM

([® ~ [®]) =L TenzAELLELE1, 2, 3, 4dp
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Where Hakodate is.

Where to buy a ticket for Hakodate.
How far it is to Hakodate.

What kind of ticket is needed for Hakodate.
To help him explain what he wants.
To help him carry his suitcase.

To help him catch the train.

To help him phone his friends.
Three days.

A week.

Five days.

The weekend.

Break{fast.

Lunch.

Dinner.

A snack.

On the street.

In a bus terminal.

In a railway station.

In an airport.
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(Figure 10). (Figure 10).
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demartion

demarcation




